

# Emergency Medical Services Community EMS Assistance Program

F	OMOTE PROTECT PROSPER						
	Greenville		2.	9/18/20	)12		
	County		4	Date of App	lication		
	Grant Project Period:						
			4. 1 Year	2 Year			
	From: July 1, 2012						
	To: June 30, 2013						
		Amount					
·.	State Funds Requested \$	31,987.3 <b>P</b>	S	Source of Local	Funds		
	Total Local Cash \$	1,861.70	- O	П <b>с</b>	. Debut		
	Total Project Cash \$	33,849.00	✓ County	Community	y Private		
6.	Ambulance Service:  Greenville County EMS 301 University Ridge, Greenville, SC 29601 864-467-7009						
	Name		Mailing Address		Telephone		
	jzaragoza@greenvillecounty.or	g					
	E-Mail Address	E-Mail Address					
	John Zaragoza, Director				12		
	Director / Chief / Name Signature			Signature			
	The county has chosen a local form of monies among the ambulance se services have agreed in writing on a documentation of their agreement wattached.  If yes, initial here:  I certify that I understand and a that I am duly authorized to commit available through this grant pare no through this grant program.	ervice and all the this formula. The with signatures is gree to comply with the application to the	services based emergency runs service. If yes, initial here the general and fiscalese requirements.	on the percentage which were run e: I requirements of also understand	that the funds		
	Authorizing Official						
	Greenville		h Kernell	County Administrator			
	County		ame		Title		
	204 University Didge	Gre	enville	29601	864-467-7105		
	301 University Ridge			7:			
	Street		City	Zip	Telephone		
			City	Zip	Telephone		
	Street		City	Zip	Telephone		
	Street jkernell@greenvillecounty.		City	Date	Telephone		

### Community EMS Assistance Program **Basic Life Support Equipment Total Item** Quantity Cost per Item \$2,000.00 \$500.00 **Scoop Stretchers** \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 **BLS Total** \$2,000.00 **Advanced Life Support Equipment Total** Quantity Cost per Item **Item** \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 **ALS Total** \$0.00 **Extrication Equipment** Quantity Cost per Item **Total** Item \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 **Extrication Equipment Total** \$0.00

## . Communications Equipment

Quantity	Cost per Iter	m	Item	Total
12	\$145.00	Headsets		\$1,740.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
Communication Equipment Total				\$1,740.00

## 5. Training

Quantity	Cost per Item	Item	Total
5	\$1,200.00	EMT Courses	\$6,000.00
3	\$938.00	EMD Classes	\$2,814.00
1	\$600.00	Rhythmn Generator Trainer	\$600.00
1	\$1,200.00	Adult Airway Trainer	\$1,200.00
1	\$495.00	Supervisor Development Video Series	\$495.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
Trainin	g Total		\$11,109.00

## 6. Other/ Describe (Ambulance)

Quantity	Cost per Item	Item	Total
2	\$2,518.00	Laptop computer (mobile data terminal)	\$5,036.00
3	\$3,488.00	Computer tablet for patient care reporting	\$10,464.00
1	\$1,596.00	Ergonomical 24/7 Dispatch Chair	\$1,596.00
4	\$386.00	LCD HD Desk Stand	\$1,544.00
1	\$360.00	Quad Monitor LCD HD Desk Stand	\$360.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
Other	/ Describe (Am	\$19,000.00	

NI V HEE FOR FO		Istification	S Please provide vou	r	
ONLY USE FOR EQUIPMENT NOT ON THE LIST OF ELIGIBLE ITEMS. Please provide your justification, attach brochure or vendor literature.					
ee Attached					
ee Attached					

#### **Headsets**

Requested are noise-canceling headsets to be used by communication specialists in the GCEMS Comm Center. Following are the specifications we request of this product:

Wideband audio for more natural sound and clearer conversations

Fully compatible with standard band environments

Premium audio assures quality customer communications

Ultra noise-canceling screen out background noise, reducing distraction

Ergonomic Design for All Day Comfort

Over-the-head, all-day comfortable design for intensive use

Proven robustness at millions of agent workstations

Single and dual earpiece options meet varying needs and preferences

Quick Disconnect cord lets users walk away from their phones without removing headset

#### Supervisor Development Video Series

EMS services have typically and historically done a decent job of providing on-going continuing education training for field providers. However, they have not done a good job, if at all, in providing initial or ongoing training for supervisory staff.

Greenville County EMS has fallen into the latter category and often promotes individuals into supervisory positions without providing any additional training as it related to supervisor development. Therefore we are requesting grant in aid funds to purchase such a series to address the following: Disciplines of Risk Management, Customer Service, Accountability, Customer Service, Success and Elimination of Harassment, Bias and Discrimination in the Workplace.

#### 24/7 Dispatch Chair

The 24/7 Dispatch Chair requested include the following specifications:

Complete ergonomic adjustability

Keeps caregivers comfortable, alert and ready for emergencies

All steel frame construction stands up to rugged use

Full ergonomic adjustability with adjustments for tension, chair tilt, seat height, lumbar support and seat depth

#### LCD HD Monitor Desk Stand

The features of this monitor desk stand include:

Improves energy and productivity by allowing the dispatcher to sit or stand as they are working which encourages healthy movement throughout the day

Counterbalanced adjustment points allow instantaneous, tool-free re-positioning

Reduces potential back and neck pain by adding movement to the work routine in a truly ergonomic workstation

Easily and simultaneously lift keyboard, laptop and LCD screen to proper height for unsurpassed ergonomic comfort

Patented Constant Force lift technology provides fluid, one-touch adjustments of the keyboard and monitor positions for personalized computing

#### Quad Monitor LCD HD Desk Stand

This desk stand allows the communication specialist to view information from four different monitors at one time. These stands maximize desk space and eliminate paper clutter in an already very cramped space.

The quad monitor lcd hd desk stand also include the same features as the above single desk stand